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PART - III

E°›¯À / BIOLOGY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Version )

Põ» AÍÄ : 3.00 ©o ÷|µ® ] [ ö©õzu ©v¨ö£sPÒ : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP £vÁõQ EÒÍuõ Gß£uøÚ
\›£õºzxU öPõÒÍÄ®. Aa_¨£vÂÀ SøÓ°¸¨¤ß AøÓU
PsPõo¨£õÍ›h® EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS¨ £¯ß£kzu
÷Ásk®. £h[PÒ ÁøµÁuØS®, AiU÷PõikÁuØS®
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

SÔ¨¦ : £Sv&I (E°›&uõÁµÂ¯À), £Sv&II (E°›&Â»[Q¯À) uÛzuÛ
ÂøhzuõÎÀ Âøh¯ÎUPÄ®.

Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

£Sv - I (E°›&uõÁµÂ¯À) / PART - I (BIO-BOTANY)

(©v¨ö£sPÒ : 35) / (Marks : 35)

¤›Ä - I / SECTION - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 8x1=8

(ii) öPõkUP¨£mkÒÍ ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯
Âøhø¯z ÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx
GÊuÄ®.

Note : (i) Answer all the questions.
(ii) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.

!4177NSBiology! £vÄ Gs
Register Number
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1. J¸ ©µ£qÂß C¸ ÷ÁÖ£mh ÁiÁ[PÒ-/ÁiÁ® :

(A) ©µ£q öuõøP¯® (B) AÀ½ÀPÒ

(C) ©µ£q ÁøP¯® (D) ©µ¦USÔ¯ß

Alternative forms of a gene are/is called :

(a) Genome (b) Alleles

(c) Genotype (d) Genetic code

2. TØÖ (T) :  öÁ¨£{ø» AvP›US® ö£õÊx \kv ©õØÓzvß Ãu•®
AvP›US®.

Põµn® (Põ) : öÁ¨£{ø» AvP›US® ö£õÊx {²UÎ÷¯õøhkPÐUS
Cøh÷¯ EÒÍ øímµáß ¤øn¨¦PÒ EøhUP¨£kQÓx.

(A) TØÖ uÁÖ, Põµn® \›
(B) TØÖ \›, Põµn® uÁÖ

(C) TØÖ \›, Põµn® AuØS \›¯õÚ ÂÍUP®

(D) TØÖ Põµn® Cµsk® uÁÖ

Assertion (A) : Increase in temperature increases the rate of mutation.

Reason (R) : Rise in temperature breaks the hydrogen bonds between the
nucleotides.

(a) (A) is not correct (R) is correct

(b) (A) is correct but (R) is not correct

(c) (A) is correct (R) is correct explanation of (A)

(d) (A) and (R) are wrong

3. uÁÓõÚ Cønø¯ PshÔP.

(A) Ti - ¤Íõìªm & AU÷µõ£õUj›¯® i²ª÷£]¯ßì
(B) ¤Íõìªm & D ÷Põ¼

(C) pBR 322 & ©ÖPmhø©UP¨£mh ¤Íõìªm

(D) FköuõØÖuÀ & øÁµì

Find the mismatch pair.

(a) Ti-plasmid - Agrobacterium tumefaciens

(b) Plasmid - E. Coli

(c) pBR 322 - Reconstructed plasmid

(d) Transfection - Virus
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4. uõÁµ v_ ÁÍº¨¤À vh¨£kzx® Põµo¯õP £¯ß£kzu¨£kÁx :

(A) {U÷PõiÛU Aª»® (B) ÷Põ£õÀmhì S÷Íõøµk

(C) EDTA (D) APõº

Solidifying agent used in plant tissue culture is :

(a) Nicotinic acid (b) Cobaltous chloride

(c) EDTA (d) Agar

5. Jµ£õ[Q Gß£x :

(A) ©mSso (B) uØ\õº¦øh¯x

(C) £õv Jmkso (D) •Ê Jmkso

Orobanche is a :

(a) Saprophyte (b) Autotroph

(c) Partial parasite (d) Total parasite

6. ÷£µshzvÀ EÒÍ BØÓ¼ß AÍÄ {ø»¯õÚx Gß£x :

(A) öÁ¨£ C¯UPÂ¯¼ß ‰ßÓõ® Âv

(B) öÁ¨£ C¯UPÂ¯¼ß Cµshõ® Âv

(C) öÁ¨£ C¯UPÂ¯¼ß •uÀ Âv

(D) SÊ© EØ£zvÓß

The quantity of energy present in the universe is constant.  It is stated in :

(a) Third law of Thermodynamics

(b) Second law of Thermodynamics

(c) First law of Thermodynamics

(d) Community productivity

7. "£_ø© ¦µm]' GßÓ ö\õÀø» E¸ÁõUQ¯Áº :

(A) ÂÀ¼¯® S. Põm (B) Dr. B.P. £õÀ

(C) N.E. ÷£õº»õU (D) M.S. _Áõª|õuß

The term Green Revolution was coined by :

(a) William S. Gaud (b) Dr. B.P. Pal

(c) N.E. Borlang (d) M.S. Swaminathan
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8. uõÁµ £°º ö£¸UPzvß £Çø© ©ØÖ® Ai¨£øh •øÓ :

(A) AÔ•P¨£kzxuÀ (B) ÷uº¢öukzuÀ

(C) P»¨¤Ú©õuÀ (D) \kv ©õØÓ¨£°º ö£¸UP®

The oldest and basic method of plant breeding is :

(a) Introduction (b) Selection

(c) Hybridization (d) Mutation Breeding

¤›Ä & II / SECTION - II

 RÌUPõq® ÂÚõUPÐÒ  GøÁ÷¯Ý® |õßQÝUS Âøh¯ÎUPÄ®.

Answer any four questions.

9. Bs ÷P«mhPz uõÁµzvß •uÀ ö\À £h® Áøµ¢x £õP® SÔUPÄ®.

Draw and mark the parts of first cell of male gametophyte.

10. ö\õ÷Úõµõ 64 – ]Ö SÔ¨¦ ÁøµP.

Write short notes on Sonara 64.

11. EhÀ P¸UPÒ GßÓõÀ GßÚ ?

What are embryoids ?

12. P]¢÷uõkuÀ GßÓõÀ GßÚ ?

What is Leaching ?

13. P»¨¤Ú Ã›¯® & Áøµ¯ÖUPÄ®.

Define Heterosis.

14. øµ÷\õ¤¯® £õUj›¯õøÁ ©soÀ Ck® ÷£õx GßÚ {PÊ® ?

What will happen when Rhizobium bacteria is applied to the soil ?

4x2=8
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3x3=9

¤›Ä & III / SECTION - III

RÌUPõq® ÂÚõUPÎÀ H÷uÝ® ‰ßÖ ÂÚõUPÐUS Âøh¯ÎUPÄ®.
ÂÚõ Gs 19 &US Pmhõ¯©õP Âøh¯ÎUPÄ®.
Answer any three of the following questions.  Q.No. 19 is Compulsory.

15. £ÀP¸{ø»°ß |øh•øÓ¨ £¯ß£õkPÒ H÷uÝ® ‰ßÖ GÊxP.
Write any three practical applications of polyembryony.

16.

(A) ÷Pªmiß {ø»ø¯ GÊxP.

       

(B) uõÁµzvß ö£¯º GÊxP.

(A) Write gametic condition.

       

(B) Write the name of the plant.

17. ö\¯ØøP ÂøuPÒ GÆÁõÖ EØ£zv ö\´¯¨£kQßÓx ?
How are artificial seeds produced ?

18. ©µ¨¦ÀöÁÎ°ß £¯ßPøÍ GÊxP.
Write the uses of silvopasture system.

19. uØ\õº¦ FmhUTÖPÎ¼¸¢x \õº§mhU TÖPøÍ ÷ÁÖ£kzxP.
Differentiate Autotrophic components from Heterotrophic components.
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¤›Ä & IV / SECTION - IV

RÌUPõq® ÂÚõUPÐUS Âøh¯ÎUPÄ®.

Answer the following questions.

20. (A) ©µ£qUPÐUQøh÷¯ {PÊ® Cøhaö\¯ø» Euõµnzxhß
ÂÁ›UPÄ®.

AÀ»x

(B) E°º öuõÈÀ ~m£Â¯¼ß I¢x £¯ß£õkPøÍ GÊxP.

(a) Explain Intergenic Interaction with an example.

OR

(b) List out any five applications of Biotechnology.

21. (A) ÁõÌÁuØS }º ªP •UQ¯®. Põµn® TÖP. ÁÓsh `Ç¾US HØÓÁõÖ
uõÁµ[PÒ GÆÁõÖ u[PøÍ uPÁø©zxU öPõÒQßÓÚ ?  (|õßS
uPÁø©¨¦PÒ).

AÀ»x

(B) (i) uªÌ |õmiß ©õ{» ©µzvß uõÁµÂ°À ö£¯›øÚ GÊxP.

(ii) Auß ¤Ó¨¤h® ¯õx ?

(iii) Auß £¯ßPÒ ‰ßÔøÚ GÊxP.

(a) Water is essential for life.  State the reason.  Write any four features for plants
which enable them to survive in water scarcity environment.

OR

(b) (i) Write the botanical name of State Tree of Tamil Nadu.

(ii) From where it is originated ?

(iii) Write its three uses.

2x5=10
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£Sv & II (E°›&Â»[Q¯À) / PART - II (BIO-ZOOLOGY)

(©v¨ö£sPÒ : 35) / (Marks : 35)

¤›Ä - I / SECTION - I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 8x1=8

(ii) öPõkUP¨£mkÒÍ ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯
Âøhø¯z ÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx
GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

1. ö£sPÎÀ Põn¨£k® ìRßì _µ¨¤ CuØS J¨£õÚx :

(A) BsPÎß £À÷£õ²›zµÀ _µ¨¤

(B) BsPÎß öPÍ¨£º _µ¨¤

(C) BsPÎß ¦÷µõì÷hm _µ¨¤

(D) BsSÔ •ß•øÚ _µ¨¤

The Skene’s glands of female are homologous to :

(a) Bulbourethral glands of the male

(b) Cowper’s gland of male

(c) Prostate gland of male

(d) Glans penis of male

2. Bßm÷µõáß CønÄ¨ ¦µuzvß ÷Áø» :

(A) Â¢xUPøÍ öÁÎzuÒÐuÀ
(B) ìö£ºª÷¯õöáÛ]ì ö\¯À

(C) Cßî¤ß EØ£zvø¯ yskuÀ

(D) FSH öÁÎÁ¸Áøu uøh ö\´uÀ

The function of androgen binding protein is :

(a) Ejaculation of sperms

(b) Process of a spermiogenesis

(c) Stimulates the synthesis of inhibin

(d) Inhibiting the release of FSH
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3. RÌÁ¸ÁÚÁØÖÒ íõº÷©õß P¸zuøh ©õzvøµPÎß ö\¯ÀPÒ £ØÔ¯
uÁÓõÚ TØÖ Gx ?

(A) Â¢x ö\À»õUPzøu uøh ö\´uÀ
(B) Ashö\À Âk£kuø» uøh ö\´uÀ

(C) P¸¨ø£ Áõ´ ÷PõøÇ°ß ußø© ©õØÓzuõÀ Â¢xö\À ~øÇ²®
 £õøu ©ØÖ® Â¢x ö\À |PºÁøu £»ÃÚ¨£kzxQßÓx

(D) P¸¨ø£ Em÷PõøÇ¨£h»zvÀ HØ£k® ©õØÓ® P¸¨£vÂØS GvµõÚ
`Çø» HØ£kzxQßÓx.

Select the incorrect action of hormonal contraceptive pills from the following :

(a) Inhibition of spermiogenesis

(b) Inhibition of ovulation

(c) Changes in cervical mucus impairing its ability to allow passage and transport of
sperms

(d) Alteration in uterine endometrium to make it unsuitable for implantation

4.

÷©÷» EÒÍ £hP¸zx¸ÂÀ A, B ©ØÖ® C BQ¯ÁØøÓ PshÔP.

(A) A & £iö¯kzuÀ, B & ö©õÈö£¯ºzuÀ, C & Cµmi¨£øhuÀ

(B) A & ö©õÈö£¯ºzuÀ, B & £iö¯kzuÀ, C & Cµmi¨£øhuÀ

(C) A & Cµmi¨£øhuÀ, B & ö©õÈö£¯ºzuÀ, C & £iö¯kzuÀ

(D) A & Cµmi¨£øhuÀ, B & £iö¯kzuÀ, C & ö©õÈö£¯ºzuÀ

Find out A, B and C in the above pictorial representation.

(a) A - Transcription, B - Translation, C - Replication

(b) A - Translation, B - Transcription, C - Replication

(c) A - Replication, B - Translation, C - Transcription

(d) A - Replication, B - Transcription, C - Translation



9 4177 (NS)

[ v¸¨¦P / Turn over

5. PõØÓØÓ P\k ö\›¨£õÛÀ EØ£zv ö\´¯¨£k® Áõ²UPÒ :

(A) «z÷uß, BU]áß ©ØÖ® øímµáß \Àø£k

(B) øímµáß \Àø£k, «z÷uß ©ØÖ® \À£º øh BUø\k

(C) øímµáß \Àø£k, ø|mµáß ©ØÖ® «z÷uß

(D) «z÷uß, øímµáß \Àø£k ©ØÖ® Põº£ß øh BUø\k

The gases produced in anaerobic sludge digesters are :

(a) Methane, oxygen and hydrogen sulphide

(b) Hydrogen sulphide, methane and sulphur dioxide

(c) Hydrogen sulphide, nitrogen and methane

(d) Methane, hydrogen sulphide and carbon dioxide

6. ö\®©Ô BkPÎÀ, ©i ö\ÀPÒ ©mk÷© •Êø©zvÓß öPõshøÁ GÛÀ,
GvºPõ» uø»•øÓPÎÀ Gx ÂøÍÁõP Aø©²® ?

(A) GvºPõ» uø»•øÓ Â»[SPÒ ©»mkzußø©²øh¯ÚÁõP C¸US®.

(B) GvºPõ» uø»•øÓ Â»[SPÒ ÷|õ´zuõUSuÀ Aøh¯õu
Â»[SPÍõPU Põn¨£k®.

(C) Bs Â»[SPøÍ EØ£zv ö\´¯ C¯»õx.

(D) GvºPõ» uø»•øÓ Â»[SPÒ SøÓ¢u ÁõÌ|õmPÒ öPõshøÁ¯õP
C¸US®.

If the udder cells of sheep are the only totipotent cells means, what will be the
consequence of future generations ?

(a) Future generations may be sterile animals

(b) Future generation animals may be disease free

(c) Males can not be produced

(d) Future generation animals will be short lived
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7. ]» Â»[SPÒ ÷PõøhUPõ»[PÎÀ ö\¯»ØÖ Põn¨£kÁx. Cx GuØPõÚ
Euõµn® ?

(A) EhÀ Aø©¨¦ \õº¢u uPÁø©¨¦PÒ

(B) |hzøu \õº¢u uPÁø©¨¦PÒ

(C) EhØö\¯¼¯À \õº¢u uPÁø©¨¦PÒ

(D) EÍÂ¯À \õº¢u uPÁø©¨¦PÒ

Some animals become inactive during summer.  It is an example for :

(a) Structural adaptation

(b) Behavioural adaptation

(c) Physiological adaptation

(d) Psychological adaptation

8. ]ØÔÚ[PÐUQøh÷¯ ÷£õmi Põµn©õP HØ£kÁx :

(A) E°›Ú ©øÓÄ (B) vjº ©õØÓ®

(C) öuõ¢uµÄ ÁõÌUøP (D) Tmk°› ÁõÌUøP

Competition between species leads to :

(a) Extinction (b) Mutation

(c) Amensalism (d) Symbiosis

¤›Ä & II / SECTION - II

H÷uÝ® |õßS ÂÚõUPÐUS Âøh¯ÎUPÄ®. 4x2=8

Answer any four of the following questions.

9. ©Ûu Â¢x ö\À¼ß Aø©¨ø£¨ £h® Áøµ¢x £õP[PøÍU SÔUPÄ®.

Draw and label the parts of human sperm cell.

10. £iö¯kzuÀ GßÓõÀ GßÚ ?

Define – Transcription.

11. Ga\ EÖ¨¦PÒ Gß£x GßÚ ? J¸ GkzxUPõmk u¸P.

What are vestigial organs ?  Give an example.
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12. Ãmk¨£¯ß£õmk ö£õ¸Ò EØ£zv°À £¯ßu¸® ~sq°›PÎß
ö£¯ºPøÍ GÊxP.

Name some microbes used in the production of household food products.

13. K›hz ußø© – Áøµ¯ÖUPÄ®.

Define – Endemism.

14. ö\ßøÚ°ß £» £SvPÎÀ PõP[PÒ SøÓ¢x, ¦ÓõUPÎß GsoUøP
AvP›UQÓx. Cx GÆÁøP ÁõÈh CÇ¨¦ ? Aøu Áøµ¯ÖUPÄ®.

In many parts of Chennai, number of dove increases rather than crow.  What type of
habitat loss it is ?  Define.

¤›Ä & III / SECTION - III

H÷uÝ® ‰ßÖ ÂÚõUPÐUS Âøh¯ÎUPÄ®. AÁØÔÀ ÂÚõ Gs
19 &US Pmhõ¯©õP Âøh¯ÎUPÄ®.

Answer any three of the following questions.  Q.No. 19 is Compulsory.

15. Ch® ©õÔ¯ Pº¨£® Gß£x GßÚ ? Cuß ÂøÍÂøÚ GÊxP.

What is Ectopic Pregnancy ?  Write its consequence.

16. ÁõhøPz uõ´ø© GßÓõÀ GßÚ ?

What is meant by Surrogacy ?

17. »õ©õºUQß ""ö£Ó¨£mh £s¦PÒ ©µ¦ PhzuÀ ÷Põm£õk''£ØÔ GÊxP.

Write the Lamark’s theory of Inheritance of acquired characters.

18. ©Ö÷\ºUøP- CßhºLö£µõß EØ£zvUS G.÷Põø»ø¯ Âh ]Ó¢u E°›Ú®
Dìm.  Põµn® TÖP.

Yeast is more suitable for production of recombinant interferons than E. Coli.  Give reasons.

19. J¸ Tmhzøu ö|Ô¨£kzxu¼À Põn¨£k® APUPõµoPÒ ©ØÖ®
¦ÓUPõµoPøÍ £mi¯¼kP.

List out intrinsic factors and extrinsic factors in population regulation.

3x3=9
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¤›Ä & IV / SECTION - IV

RÌUPõq® ÂÚõUPÐUS Âøh¯ÎUPÄ®. 2x5=10

Answer the following questions.

20. (A) £ÀTmk AÀ½ÀPÒ GßÓõÀ GßÚ ? uUP GkzxPõmkhß ©Ûu
CÚzvÀ Põn¨£k® £ÀTmk AÀ½ÀPÎß £õµ®£›¯ £sø£
ÂÁ›UPÄ®.

AÀ»x

(B) vjº ©õØÓ® £ØÔ¯ B´ÄPÒ ‰»® ©µ£qÂØS®, i.Gß.H&ÂØS®
EÒÍ öuõhº¦ |ßS ¦›¢x öPõÒÍ¨£mi¸UQÓx. CUTØÔøÚ
{¯õ¯¨£kzxP.

(a) What are Multiple Alleles ?  Describe their inheritance in Human with example.

OR

(b) The relationship between genes and DNA are best understood by mutation studies.

Justify this statement.

21. (A) ÷|õ´ uøhUPsPõo¨¦zvÓß vÓ®£h C¸US® ÷£õx ¦ØÖ÷|õ´
÷uõßÓõx. CUTØøÓ {¯õ¯¨£kzxP.

AÀ»x

(B) |õ® }º Buõµ[PøÍ ©õ_£kzvU öPõsi¸UQ÷Óõ®.  AÆÁõÖ
©õ\øhÁvÚõÀ E°›Ú[PÒ «x HØ£k® ÂøÍÄPÒ ¯õøÁ ?

(a) If immunological surveillance is effective, cancer should not occur.  Justify.

OR

(b) We are polluting water resources.  What will be the consequences of water
pollution on organisms ?

- o O o -


